Calculus I
Section 5.5 - Reimann Sums Function

. 1 : . : :
1. Approximate the area between the curve y=— and the x - axis over the given interval using
X

the given method and number of subintervals, n, of equal width.
a. [1,5],LRAM,n=4
b. [1,5], RRAM,n=4
c. [1,5],TRAP,n=8

d. [1,4],LRAM,n=6

e. [1,4],RRAM, n=6

-

[1,4], TRAP, n = 3

2. Approximate the area between the curve y= Jx and the x - axis over the given interval using
the given method and number of subintervals, n, of equal width.

a. [0,5],LRAM,n=5
b. [0,5], RRAM,n=5
c. [0,5], TRAP,n=5
d. [1,4],LRAM,n=6

e. [1,4], RRAM,n=6

-

[1,4], TRAP, n =3




3. Approximate the area between the curve y=1-x” and the x - axis over the given interval
using the given method and number of subintervals, n, of equal width.

a. [0,2],LRAM, n =4

b. [0,2],RRAM, n =4

c. [0,2], TRAP,n =4

d. [0,4],LRAM, n=4

e. [0,4], RRAM, n =4

-

[0, 4], TRAP, n = 8

4. Approximate the area between the curve y=2" and the x - axis over the given interval using
the given method and number of subintervals, n, of equal width.

a. [-2,2],LRAM,n=4

b. [-2,2],RRAM, n =4

c. [-2,2], TRAP,n=8

d. [0,3],LRAM,n=6

e. [0,3],RRAM,n=6

f. [0,3], TRAP,n=3
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2. Approximate the area between the curve y= Jx and the x - axis over the given interval using
the given method and number of subintervals, n, of equal width.
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3. Approximate the area between the curve y=1-x" and the x - axis over the given interval
using the given method and number of subintervals, n, of equal width.
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4. Approximate the area between the curve y =2 and the x - axis over the given interval using
the given method and number of subintervals, n, of equal width.
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